PART NUMBER : SA090-1102-31 ISSUE: C STATUS : RELEASED
D) PRODUCT
DESCRIPTION ;: STOWAGE EFFECTIVITY DATE : 16 Feb 2022
MATERIAL : AW7075T651 [EN 573] PROTECTION #1: OASNOIR
WEIGHT(Kg) :  0.640 PROTECTION #2: -
FIRST LEVEL COMPONENTS
RECORDS OF CHANGE
REV. DATE DESCRIPTION AUTHOR
A 10/11/2021 [CREATION D.TAVERNE
B 18/11/2021 |MODIFICATION DE LA GEOMETRIE D.TAVERNE
C 07/02/2022 |MODIFICATION DE LA GEOMETRIE D.TAVERNE
SHEET: 1 / 3



AS SHOWN i 90° 90°
| 4 LN N\ H N I
D SYMMETR'CAL NS T —n UR4 TIiT - JR4|||| i I T INZAN TIIT T I Tt AV i [Ini) Y I T 11 A
62,63 | o 358,55 R4
85,04 COUPE A-A
ECHELLE 1 : 3
|I I = TR & 0T T -1 NI |||
5x @ 373V 6
2 X @ 3,73 v 6 . _ % M ouwn
TROU TARAUDE POUR TROU TARAUDE POUR #6-32 HELICOIL Insert = 1.0 * Dio. 58
C #6-32 HELICOIL Insert = 1.0 * Dia. ¥ ¥
628 +0,30 Q
17
® - ® - @ ® - ® - ®
(T + ¢T + + ¢ + + T SRS E
o & [ e e ° ° o o o
©,
% el e~  — Tt g Q‘ﬁ
N4 N L ~ L ~ LS\ & ~
B - A 12x @ 5,11 A TRAVERS TOUT A
L 1 ® 9,53V 4,83
N
17 x TROU TARAUDE POUR
#8-32 HELICOIL Insert = 1.0 * Dia.
1
N
2 XTROU TARAUDE POUR b TAvERIE
A #8-32 HELICOIL Insert = 1.0 * Dia. soans o STOWAGE
16reb202
ciento TI@ D= PRODUCT  Seoomsame.
NOTA : SE REFERER AU FICHIER 3D POUR PLUS D'INFORMATIONS SUR LES COTATIONS SSAT 5% TN SA090-1102-31 B 3HEL
® Marquage : EHQUETTE - ENCRE - GRAVURE 115 00ainois our ropeei 1 CaxT s REPRODUCED OR COMMINCATED WINOUT OUR WRTTEN AGREEVENT

6 5 4 3 2 1



DESIGNED BY :
D.TAVERNE

| CECKEDY: STOWAGE

EFFECTIVE DATE :
16 Feb 2022
STATUS

RELEASED ’EI@ iD- PRODUCT ?SECFJIE;A&L&I?;’
SCAE L SIE PN SA090-1102-31 'SSgEV 3

THIS DRAWING IS OUR PROPERTY ; IT CANT BE REPRODUCED OR COMMUNICATED WITHOUT OUR WRITTEN AGREEMEN:

5 4 3 2 1



